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King Fahd University of Petroleum and Minerals
College of Sciences,
Prep-Year Math Program

: Math 001  Final Exam
Code 004 Term (022) | | Code 004

June 08, 2003
Time Allowed: 2 1/2 Hours

STUDENT NAME: o Lﬂaicafi Je s X Souvce
D #: . SECTION #:
Important Instructions: -.

1. All TYPES of CALCULATORS, PAGERS or TELEPHONES are NOT
allowed during the examination.

2. Use HB 2.5 pencils only
3. Use a good eraser. Do NOT use the erasers attached to the pencil.

4. Write your name, ID number and Math section number on both the
examination paper and the OMR sheet.

5, Detach the OMR sheet carefully.

6. When bubbling your ID number and Math section number, be sure that the
bubbles match with the numbey that you write, '

7. Match the Test Code Number already bubbled in your answer sheet with the
Test Code Number printed on your question paper.

2. When erasing a bubble, make sure that you do not leave any trace of
penciling. ‘

9. Check that the exam paper has 30 questions.
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1. Ifi=+-1,then y is equal to
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9. Which one of the following numbers is in the range of the function
f(2) = -3z + 6z — 47
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5. The graph of the equation || + ly — 1| = 8y° is symmetric with respect
to
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(b} the origin only
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(e) the z-axis, the y-axis and the origin
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4, The polynomial P(z) = z° — 4z — 4 has a zero between:
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) If the graph of the equationy = —}- is ghifted left horizontally 2 units and
5. g o >
up vertically 3 units, then the equation of the new graph 18
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6. Ifm#nand m(z—n)=nzr+k thenz =
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7. 1t i =+/—1, then the remainder when P(z) = 20 + g T 2
is divided by z + 4 is equal to
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8. Which one of the following statements is FALSE?
(a) The distance between the points (1,2) and (1,3) is 1
(by “The graph of 2% + 4* + 9 = 0 is a circle with radius 3
(c) The graph of z* + y* = 0 is the point (0, 0)
(d) The distance between the points (3, 2) and (3,8) is 6
(¢) The graph of 22 +4? — 9 = 0 is a circle with center at (0, 0)
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9 The graph of y = intersects ibs horizontal asymptote when

z is equal to
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10. If i = v/~1 is a zero of the polynomial P(z) = z* — 22° + 222 — 2z + 1,
then the number of the z-intercepts of the graph of P(z) is equal to
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11.  The solution set, in interval notation, of the inequallty |5 — 9%} =
al t
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12.  The equation —— = — + 7 has /Q é,' SRS )
Z + 3 i \"’-'u}’{r'; %‘;-.\__‘_b_-'g [ SN
‘ - | L F T e e
. ) Sloractidr [,
(a) two distinct rational roots b R

(b} fwo distinct complex roots that are not real .
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(¢) two distinct irrational roots ' f T R
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(d) a real root that is a double root '/ - |
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(¢) one real root and one nonreal root



FROM :

PREP-YERR MATH PROG

MATH 001 Final (022)

2z + 1

—Tx

5
3r—2

4z — 3
3z —2

K

o (253

14.

is equal to

& (1,00)

(b) {1,00)
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The far-left and the far-right behavior of the graph of the function
flz) = —42” + 3z + 8z — 100 are one of the following:

(a) goes down to its far left and up to its far right : o <
}h Y” goes up to its far left and down to its far right Cxaple | BaHf

(¢) goes up to its far left and up to its far right I Waf-wéd To

(d) goes down to its far left and down to its far right da e .

(e) none of the above .‘ o M ey 5:
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An equation of the slant asymptote of the graph of y = — 5 5
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17.  The equation z + vz -~ 5 = 1 has

J
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){:ﬁ g -only one negative integer root
(b) two positive integer roots

{c) one positive and one negative integer roots

(d) no real roots

(e) one real and one nonreal roots

18.  If a line segment AB has the midpoint M (9, 3) and one endpoint A(3, 1),
then the other endpoint is
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20, I % is a zero of multiplicity 2 of the polynomial

P(z) = 16z*

— 8% — 399z% + 200z — 25,

then one of the following expressions is a factor of P(z):

(a)
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1622 — 25
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21. The sum of all noninteger rational zeros of the polynomial
P(z) = Azt 4 42° + 2327 — z — 6 is equal t0
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22. Iflz)=2++ve—1, 1<z<oc, then f(4) =
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93 The least common denominator (LCD) of the expression
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1 D
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i(z — 1)z —2)(z+3)* 8z - Dz —2)%(z+3) 20(z — 1)2(z — 2)(z + 3)
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(b) 40(z — 1)z — 2)*(z + 3)*
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24,  The graph of the rational function f(z} = — g I8 | - i fee
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(c) decreasing on (—o0, —3) U (3,0) and increasing on (-3, 3)
(d) decreasing on (—3, 3) and increasing on (—co0, =3) U (3, o)

(e) decreasing on (—co, —3) U (—3,0) and increasing on (0, 3) U (3, co)
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(a) f(&)=—E(2)
(b) F(2)=E(@—1)

(c) flz)=E(z+ 1)
@ 7@ =530

)ﬁ’)/ f (&) = B(-3)
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The adjacent figure is the graph of y = flz). I}iE(z)
which one of the following statements is TRUE?
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= |z — 1} + 1, then
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k£ 0, If f(—3) = 10, then k is equal to
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The graph of a linear function f has the intercepts (—k, 0) and (0, k) where
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27 The maximum area of a rectangle that has perimeter 1600 meters 18 equal

to
_,,..,-—'"-—-«-‘.x ) " . !_:‘ |
C NI S
"‘s,,..___.,-vf’{'
(a)} 40000 square meters | CER
OEQ;E:E fOAE AR :f:-»;' '
(b) 80000 square meters e VA o
-f N % a I
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o WA YA AN
(c) 240000 square meters J ,, ¢ ]
(d)" 160000 square meters f;,}

&

(e) 20000 square meters

28, If flz) = %— 1, then the domain D and the range R of the inverse function

f~1 are

(2) D= (~00,0)U (1,00) and R = (—o0,0) U (0,0)

(b) D =(0,1) and R = (~00,0) U (0,0)

M/D = (—o0, 1) u (~1,00) and R = (—c0,0) U (0, 00)
ﬁf (d) D= {—00,0)U(0,1)U(1,00) and R=(—1,0)U(0,1)

(e) D=(—oc,)U(1,0c) and B = (—o0,1) U {1, 00)
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29.  The domain, in interval notation, of flz) = Tt a) is equal to

(b) [~3,—-1)U[1,00) Soo = 35 L
(c} [-3,-DuU(-11]
(d) (—o0, —3] UL, 00) _’ N J f

(&) (—o0,—1)U[L,00) Y ¥

30. The graph of the rational function f(z) = has the follow-

ing asymptotes

(a) two vertical and one slant asymptotes
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/gbﬁ/one vertical and one slant asymptotes ¢ CALoTHiE L TV e
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(¢) one vertical, one horizontal, and one slant ek DAY e s
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(d) two vertical and one horizontal asymptotes LAl Syeps

(e) four vertical and one slant asymptotes AN PR R
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o i 4
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